
Australian Pump Industries Pty Ltd  |  7 Gladstone Road, Castle Hill NSW 2154  |  P: 02 8865 3500 |  F: 02 9894 4240  |  www.aussiepumps.com.au 

   GMP/JUL 18/1 

AUSSIE spares diagram & parts list 

All prices exclude GST 

AUSSIE GMP PUMPS:  

Part  
Number Qty Description 

List 
price 

5020 5 T.E. Screw M 10x35  $2 

5253 1 Flange B 3203  $53 

5379 1 Counterweight B 3205  $13 

5393 1 Rubber Gasket B 3207  $17 

5453 1 Valve Gasket B 3206  $83 

F572 1 Adaptor Plates AP 013  $157 

6030 1 Flex. Gasket B 2587  $12 

6161 1 Washer D.7x75x2.5  $11 

6169 2 Copper Washer  $4 

6173 1 Washer 10x30x6 (Honda GX390) $7 

H848 1 Washer 10x30x6 (Yanmar L100) $7 

6184 1 Flex. Washer 41x50x2  $7 

6209 1 Conical Tap ¼” Gas  $6 

6214 1 Conical Tap 1¼” Gas  $26 

6220 4 Screw T.E. M8x40 $2 

6241 4 T.E. Screw M 10x30  $2 

6243 4 T.E. Screw M 12x25  $6 

6355 1 Counterface 33-57-10  $38 

6841 1 Rivet 6.5x20  $4 

B4KQ-A/ST FOR CYLINDRICAL 1” SHAFT  WITH KEY MOTORS 
cat AAR9 

Part  
Number Qty Description List price 

7726 4 Copper Washer  $2 

8308 1 Bracket (exB-2902/2A)  $286 

8921 1 Pump Body B4KQ-A/ST  $2,300 

8927 1 Valve B4KQ-A/ST  $499 

8933 1 Inspection Door  $128 

8939 2 Gasket Door B4KQ-A/ST  $22 

H914 1 Complete Wear Disc D.129.5 kit   $164 

8975 2 Complete Pin M10  $54 

9068 3 Screw T.S.E.I.M5x00 $1 

9468 2 Grub Screw M10x60 $11 

9868 1 Impeller B4KQ-A/ST (Honda GX390) $734 

L381 1 Impeller B4KQ-A/ST (Yanmar L100) $734 

9869 1 Sleeve D.32x25.4x50  $83 

A242 1 Spring Washer D.10  $1 

F319 4 OEB Screw 3/8" –16 UNC  $5 

F446 1 Screw OEB 3/8" –24 UNF (Honda GX390) $5 

L134 1 Screw OEB 7/16" –20 UNF (Yanmar L100) $5 

F976 1 Mech. Seal 32-54-15 Sil.Car.  $377 

H914 


